o(d X) (um) for PV

Ratio a(dy) (um) for PV

a(d z) (um) for PV

Ratio

H
Q

iR
o
s

107

0 20 40 60
Vertex z (cm)

0.

nmur; 3

I

D

annngde

o0 X) (um)

Ratio

[EBsmn]

ot A .
L ::: Z:qr
0 16 -10 =5 0 5 10 15 20

Vertex z (cm)

o(d x) for merged vertices (um)

Ratio

=
o
N

=
o

L1.U0

i

10°|

Vertex z (cm)

10°E

10?

e

+ _____

16 15 20
Vertex z (cm)

a(0y) (um)

0(0 2) (um)

Ratio

;‘ w%éﬁ%ﬁ?ﬁﬁé‘ﬁﬁﬁé%éﬁﬁé&@é%

10°

Vertex z (cm)

1.055— ------
1
Y5 =5 =10 50 B 10 15 20

Vertex z (cm)

o(d y) for merged vertices (um)

Ratio

o(d z) for merged vertices (um)

Ratio

T SO S T SO O AP
0I5 =165 0 5 10 15 20

Vertex z (cm)

10°E

10%E

1.4
1.2

feeehaaas A

1

085510 5 0 5 10 15 20
Vertex z (cm)




	Contents
	Page 1


